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Chapter 10   Insurance Regulation

1) Which of the following is not directly a subject of state insurance regulation?

A) Financial solvency of insurance companies

B) Trade practices of insurance companies, such as agent compensation and product pricing

C) Marketing activities of insurance companies

D) The rates that insurers charge for insurance

2) Why is there unequal knowledge and bargaining power in the insurance transaction?

A) The complexity of the insurance contract and the intangible nature of the product

B) The insurance companies want to confuse consumers so it is difficult to make choices.

C) Consumers do not receive the policy until months after the contract goes into effect.

D) There is no competition in the industry, therefore the consumer is stuck with inferior products.

3) Which of the following is not an argument for federal regulation?

A) There will be substantial improvement in efficiency due to fewer jurisdictional requirements.

B) There will be less influence over federal regulators by insurance companies.

C) There will be more expertly trained personnel.

D) It will bring more tax money to the federal government.

4) Which of the following is a subject of state insurance regulation?

A) Equal employment practices of the insurer

B) Standards of financial solvency

C) Business acquisition practices

D) Insurance contract provisions

5) The regulator's objective with respect to insurance rates is to ensure that rates are:

A) understood by consumers and affordable for most consumers

B) equal for all applicants, adequate, and minimally discriminatory

C) fair, adequate and not unfairly discriminatory

D) fair, not excessive, and affordable

6) Which of the following is the most important goal of insurance regulation?

A) Limiting the number of insurance companies in the state

B) Promoting the solvency of insurance companies

C) Mandating that all citizens purchase auto insurance and health insurance

D) Approving the contractual language of insurance policies sold in the state

7) Insurer reserve requirements exist to:

A) force the insurer to maintain a minimum amount of assets

B) allow the insurer to earn investment income

C) allow the insurer to charge higher premiums

D) set money aside for fixed asset acquisition

8) The right of the states to regulate insurance was first established by the:

A) SEUA decision

B) Paul v. Virginia decision

C) National Association of Insurance Commissioners Act

D) McCarran-Ferguson Act

9) Currently, the extent of the federal government's right to exercise regulatory authority over insurance companies is dictated by:

A) SEUA case

B) Paul v. Virginia decision

C) Robinson-Patman Act

D) McCarran-Ferguson Act

10) Which of the following is not a stated purpose of regulation?

A) Promote competition among the largest insurers in the state

B) Maintain insurer solvency

C) Deal with unique pricing problems that do not allow for full and unrestrained competition

D) Promote social goals

11) Which one of the following is an argument for federal regulation of the insurance transaction?

A) If there were federal regulation, state regulation would still be required for intrastate transactions.

B) State regulation allows experimentation and isolation of bad laws.

C) Many states do not have enough trained people to regulate insurance efficiently.

D) All of the above

12) Insurance regulations require legal reserves and surplus because:

A) assets have to equal liabilities plus owners' equity

B) reserves are long-term obligations and must be met with long-term assets

C) they provide a cushion against bad underwriting and investment results

D) insurers must pre-fund all agent's commissions and underwriting expenses

13) The arguments for federal regulation of insurance all of the following except:

A) lack of uniformity of state regulation

B) state regulation costs more to administer

C) federal regulation would be less expensive

D) federal regulation would be more flexible

14) Which one of the following is not a reason for the regulation of insurance?

A) To prevent insurer insolvencies

B) To promote social goals

C) The unequal knowledge and bargaining power of the parties to the contract

D) To stabilize the economy

15) The South-Eastern Underwriters Association Case:

A) preceded the Paul V. Virginia case

B) upheld the precedent set in Paul v. Virginia

C) reversed the Paul v. Virginia decision

D) none of the above

16) Which of the following best describes the two sources of insurance regulation?

A) State governments and the federal government

B) Insurance law and the administration of that law

C) Contracts and the court system

D) Administrative bodies and the court system

17) Which of the following is not a reason for the comprehensive regulation of insurance?

A) Widespread abuse of consumer rights

B) Severe impact of insurer insolvency

C) Unequal knowledge and bargaining power of buyers and sellers

D) Unique pricing problems inherent in insurance

18) What was the major result of the Armstrong and Merrit Investigations?

A) Passage of the McCarran Act

B) Bankruptcy of the SEUA

C) The repeal of McCarran-Ferguson Act

D) A new insurance code for the state of New York

19) Which of the following is an example of an admitted asset?

A) Office furniture

B) Supplies

C) Equipment

D) Real estate holdings

20) Which of the following is an example of a nonadmitted asset?

A) Office furniture

B) Supplies

C) Equipment

D) All of the above

21) A life insurer's policy reserve equals the difference between the mathematical liability of a future death claim and the value of:

A) future premiums the insured will have to refund to its policyholders

B) future premiums the insured will pay the insurer

C) future investment earnings on premiums the insured will pay the insurer

D) all present death claims

22) The NAIC requires life insurers to keep two different types of reserve accounts. These reserve accounts are designed to protect insureds from poor investment results the insurer may suffer. What are these two reserves called?

A) Mandatory securities valuation reserve and supplementary securities valuation reserve

B) Mandatory securities valuation reserve and asset valuation reserve

C) Mandatory securities valuation reserve and interest maintenance reserve

D) Interest maintenance reserve and asset valuation reserve

23) What is the purpose of the asset valuation reserve?

A) To absorb losses arising from sales of assets for less than their cost (capital losses)

B) To absorb losses arising from the insolvency of debtors (credit losses)

C) To absorb losses caused by changes (increases) in interest rates on government securities

D) To absorb losses caused by guaranty fund assessments made against insurer assets

24) What is the purpose of the interest maintenance reserve?

A) To absorb losses arising from sales of assets for less than their cost (capital losses)

B) To absorb losses arising from the insolvency of debtors (credit losses)

C) To absorb losses caused by changes (increases) in interest rates on government securities

D) To absorb losses caused by guaranty fund assessments made against insurer assets

25) The NAIC requires life insurers to have reserve accounts that protect insureds from the:

A) insurer's poor underwriting decisions

B) insurer's poor investment results

C) catastrophic hurricane years

D) effects of terrorism risk on the insurer's stability

26) NAIC stands for:

A) National Association of Investment Commissioners

B) National Affiliated Insurance Commissioners

C) National Association of Insurance Commissioners

D) none of the above

27) The failure of three large life insurance companies resulted in the NAIC's development of which of the following for life insurers?

A) Interest maintenance reserves

B) Asset valuation reserves

C) Risk-based capital requirements

D) National guaranty funds

28) The main outcome of the Gramm-Leach-Bliley Act of 1999 is to allow:

A) banks, insurers and security dealers to openly compete with one another

B) banks, insurers and security dealers to form financial services holding companies

C) insurers to choose between state or federal regulation

D) banks to evade the provisions of the Glass-Steagall Act

29) Under the provisions of the Gramm-Leach-Bliley Act, all of the following are true except:

A) state insurance commissioners oversee insurers operating in their state

B) within a financial services holding company, insurance records must be kept separate from other financial records

C) only licensed insurance agents can receive commissions for insurance sales

D) state insurance commissioners and the Federal Reserve jointly oversee the banking activities of insurer-owned banks

30) A foreign insurer is:

A) one that is home-officed outside the U.S.

B) one that has offices both in the U.S. and in other countries

C) one that is incorporated in another state

D) one that has not been in existence for at least three fiscal years

31) An alien insurer is:

A) one that is home-officed outside the U.S.

B) one that has offices both in the U.S. and in other countries

C) one that is incorporated in another state

D) one that has not been in existence for at least three fiscal years

32) A domestic insurer is:

A) one that is home-officed outside the U.S.

B) one that has offices both in the U.S. and in other countries

C) one that is incorporated in another state

D) none of the above

33) The Merritt Committee Investigation looked into solutions for dealing with:

A) unethical and undesirable behavior by insurance companies 

B) effectiveness of state taxation as opposed to insurance regulation

C) states that do not have a state insurance commissioner system in place

D) insurers that violate risk-based capital requirements

34) The McCarran-Ferguson Act recommended that:

A) states dismantle their regulatory systems

B) states submit to federal insurance regulation

C) state regulation be phased out over a ten-year period

D) none of the above

35) Under regular audits and solvency testing an insurer is subject to:

A) no state guaranty fund participation

B) more restrictive rate regulation

C) the requirement to file an annual statement

D) FDIC participation and protection

36) IBNR reserves are an estimate of:

A) losses that have been incurred but not reported to the insurer

B) losses that have been incurred and reported to the insurer, but not yet settled

C) unearned premiums the insurer owes policyholders

D) agent commissions owed

37) One result of the Gramm-Leach-Bliley act has been:

A) the separation of banks and insurance companies

B) greater consistency of agent licensing requirements across state lines

C) increased restrictions on where agents and insurers may operate

D) both A and C

38) Different prices for identical goods is one sign of a market that has uninformed buyers.

39) "Prior-approval" price regulation is known as "use-and-file" regulation.

40) In the Paul v. Virginia decision, the U.S. Supreme Court decided that Paul was legally an agent of the state of Virginia.

41) It is generally illegal for an insurance agent to share her commissions with an insured.

42) The Southeastern Underwriters Association (SEUA) case reversed the Paul v. Virginia decision.

43) Congress passed McCarran-Ferguson Act as a response to the SEUA decision.

44) McCarran-Ferguson Act expressed the intent of the federal government to forever abandon to the states the right to regulate insurance.

45) The Appleton Rule applies to all insurance companies doing business in Wisconsin.

46) The NAIC is a federal regulatory agency for administering federal insurance programs for armed service personnel.

47) The best argument for continued state insurance regulation is that state regulation is cheaper and more efficient than federal regulation would be.

48) A legal reserve is a cash asset account maintained by life insurers.

49) A loss reserve is more likely to be maintained in relatively large amounts by a property than a life insurance company.

50) Risk-based capital requirements have been developed for both life and non-life insurers.

51) Risk-based capital requirements take into account differences in a particular insurers' underwriting and investment practices.

52) An alien insurer is a non-U.S. insurer.

53) A foreign insurer is a non-U.S. insurer.

54) Unrestrained price competition does not work in the insurance market because prices have to be determined long before final costs are known.

55) Property insurance companies have more freedom in their investment activities than do life insurance companies.

56) Life insurance companies have a debtor/creditor relationship with their living insureds that is similar to a fiduciary relationship.

57) The Gramm-Leach-Bliley Act took effect on January 1, 1998.

58) Explain what a guarantee fund is. How are guarantee funds financed?

59) What is the overall regulatory objective for a state's rate regulations?

60) What is the difference between prior approval and open rating laws?

61) Explain briefly the purpose of the McCarran Act.

62) Explain what a policy reserve is. How is a policy reserve calculated?
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Chapter 11   Insurance Contracts

1) In property insurance, to collect for a loss, insurable interest must exist:

A) at the beginning of the contract

B) at all times

C) when the insurer waives it

D) at the time of the loss

2) If there were a $200,000 loss and a $500 straight deductible, the insured would pay:

A) $500

B) $199,500

C) $200,000

D) $200,500

3) Dane Cook has a $50,000 property loss. His insurance policy's coverage limit is $35,000, and has a $500 deductible applied to the loss. How much will Dane collect?

A) $50,000

B) $49,500

C) $35,000

D) $34,500

4) Gerald Tee has a $50,000 property loss. His insurance policy's coverage limit is $35,000, and has a $500 deductible applied to the policy. How much will Gerald collect?

A) $50,000

B) $49,500

C) $35,000

D) $34,500

5) Deductibles serve three major purposes, and two of those are:

A) reduce moral hazards; save on claims handling expenses

B) reveal moral hazards; eliminate morale hazards

C) reduce morale hazards; save on claims handling expenses

D) reveal morale hazards, eliminate moral hazards

6) If there were a $22,000 loss and a $700 straight deductible, the insurer would pay:

A) $700

B) $21,300

C) $22,000

D) $0

7) Which part of the insurance contract personalizes the coverage to the individual's exposure?

A) Exclusions

B) Insuring agreements

C) Declaration page

D) Conditions

8) The purpose of the insuring agreement of an insurance policy is to:

A) specify the perils covered

B) list reasons allowing the insurer to cancel the policy

C) present the language giving force to the contract

D) indicate who can collect for a covered loss

9) Exclusions are contained in insurance policies for all the following reasons except:

A) to eliminate catastrophic perils

B) to eliminate coverage of property or perils for which the insurer wants an extra premium

C) to control moral hazard

D) to exclude the influence of reinsurance arrangements

10) To determine if a loss is covered by a property insurance contract, you should look at all of the following except:

A) all applicable exclusions

B) the subrogation clause

C) what property is covered

D) the dollar limitations for recovery

11) Which of the following is not a reason for using deductibles in property insurance?

A) They reduce the morale hazard

B) They eliminate payment for frequent small losses

C) They allow consumers to customize contracts based on financial considerations

D) To split large losses in excess of the policy limits equitably between the insured and the insurer

12) Which of the following items is not a benefit of standard insurance policies? 

A) Smaller insurers can offer cheaper insurance than larger companies if standard policies are used.

B) Litigation should be reduced as policy meaning becomes understood.

C) Consumers are more likely to learn the meaning of standard policies.

D) Data collection and loss rate computation are easier and more accurate.

13) Which of the following is not likely to be found on a declarations page?

A) Duties following a loss

B) Identity of the named insured

C) List of coverages provided by the contract

D) Name of the insurer

14) Which of the following is false concerning concealment?

A) Would be illustrated by a false answer to a question

B) To make a contract avoidable must be material

C) Typically involves an element of deception

D) The result is treated very much like material misrepresentations in insurance law

15) All the following features are unique to insurance contracts (versus other business contracts) except:

A) insurable interest

B) subrogation

C) utmost good faith

D) consideration

16) In most property insurance contracts assignment is:

A) specifically prohibited

B) permitted, but requires additional premium

C) not mentioned, but is not permitted because insurance contracts are personal contracts

D) valid with the written consent of the insurer

17) Mr. Jiminez wants his 16 year old son to buy a life insurance policy as an investment for college. He asks you if it is legal for a minor child to purchase and own life insurance. You correctly respond by saying:

A) minors never have capacity to enter contracts

B) minors always have capacity to enter contracts

C) the courts have ruled that it is illegal for minors to purchase life insurance

D) the courts have ruled both ways on minors' ability to own life insurance

18) The personal feature of property insurance contracts means that:

A) subrogation always applies

B) ambiguities in the wording will always be construed against the insurer

C) insurance contracts cannot be freely transferred to other parties

D) the buyer of insurance must have insurable interest in property before the policy is issued

19) The principle of utmost good faith:

A) holds the insurer to a higher standard of honesty

B) does not apply in life insurance

C) holds the insured to a higher standard of honesty

D) requires the insurer and insured to enter the contract with utmost good faith

20) Jasmine phones her agent to obtain auto insurance. The agent binds coverage over the phone, and tells her she will have a $250 collision deductible. When the insurer issues the policy, the underwriter imposes a $1,000 deductible because of Jasmine's poor driving record, then mails her the policy. She does not read it or notice this change until she has an accident six months later. She then demands that the insurer only require a $250 deductible rather than a $1,000 deductible, since she did not approve this change. Which legal principle of insurance contracts would be the insurer's most convincing reason for refusing to honor the $250 deductible?

A) Contract of adhesion

B) Parol evidence rule

C) Indemnity

D) Utmost good faith

21) The ________ clause in an insurance policy says that when the insurer indemnifies the insured for a loss, it takes over the insured's right to collect payment from any negligent third party that may have caused the loss.

A) indemnity

B) proof of loss

C) adhesion

D) subrogation

22) Which of the following does not support the principle of indemnity?

A) Actual cash value

B) Contract of adhesion

C) Insurable interest

D) Subrogation

23) If a property insurance agent goes to Maria's door, convinces her to apply for insurance and write a check for the policy premium, which of the following has occurred?

A) Offer, acceptance

B) Soliciting an offer, offer, acceptance, consideration

C) Offer, counter offer, acceptance, consideration

D) Offer, consideration

24) An affirmative warranty states that:

A) something is true only at the present time

B) something will be true in the future

C) all information provided on the application for coverage is affirmed to be truthful

D) none of the above

25) What is the principle of indemnity? 

A) A court precedent that gives insureds the right to sue their insurers if they get bad claims service

B) The rule that a person may not collect more than his actual loss in the event of damage caused by an insured peril

C) The rule that a person will not be reimbursed for a loss unless he can show proof of loss

D) A way of requiring a person to pay a premium

26) A binder is:

A) part of most property insurance contracts

B) a release of any additional claims against the insurer

C) a legal response when the insurer informs the insured a claim is denied

D) a temporary contract

27) Which of the following is not an exception to the rule that insurance contracts are contracts of indemnity?

A) Life insurance

B) Replacement cost insurance

C) Functional replacement

D) Valued insurance policies

28) The parol evidence rule says:

A) oral statements made prior to the issuance of an insurance policy are not a part of the contract

B) oral statements made after a policy is issued are not a part of the contract

C) after an oral agreement is put into writing, it becomes a contract of adhesion

D) none of the above

29) If an insured has actual cash value coverage, how much would he collect given the following facts?

1)
Replacement cost of the building is $200,000,

2)
Replacement cost of the loss is $30,000,

3)
Estimated total useful life is 30 years, and

4)
Building has been in use 15 years.

A) $70,000

B) $45,000

C) $30,000

D) $15,000

30) A misrepresentation:

A) always voids a contract

B) makes a contract voidable if it is material

C) is sometimes referred to as a "concealment"

D) is legally treated the same way as a breach of warranty

31) In which case is there no insurable interest?

A) Barbie's 25% ownership in an oil well

B) A dry cleaner in its customers' clothes

C) A bank (creditor) in property used to secure a loan

D) A school principal in the lives of the students attending his school

32) Choose the best example of a promissory warranty.

A) The cargo is not flammable

B) This vessel is seaworthy

C) The building's fire sprinkler system works and will work

D) The dump truck is in good condition

33) The functional replacement provision in some property insurance policies is used when:

A) replacing a lost item is impossible

B) replacing a lost item is much cheaper than expected

C) replacing a building will cost much more than its market value

D) an insured set of objects is collectively worth more than the sum of its individual components

34) Christopher purchases an insurance contract with the following warranty attached: "the burglar alarm system will be in good working order." What type of warranty is this?

A) The statement is not a warranty

B) Implied affirmative

C) Express affirmative

D) Express promissory

35) The principle of indemnity:

A) is illegal in many countries

B) reduces the occurrence of overstating claims

C) only applies in life and health insurance

D) eliminates insurance fraud

36) Which one of the following is true concerning consideration in property insurance?

A) Dollars must change hands from the insured to the insurer before a contract exists.

B) The only valid consideration is cash payment of all premiums in full.

C) Abiding by the contractual language and paying the premium is the consideration the insured provides.

D) If the premium is not paid at the time of a loss, the insured is given a 30-day grace period to pay.

37) Which of the following is correct concerning when insurable interest must exist?

A) In property and liability insurance, it must exist at the inception of the contract.

B) It is seldom required in property insurance unless there are liens on the property.

C) It must exist at the time of death of the insured for the beneficiary to collect in life insurance.

D) In life insurance, it must exist at the inception of the policy but it is not necessary at the time of the loss.

38) Which one of the following is false concerning subrogation?

A) It reinforces the principle of indemnity.

B) It holds rates below what they would otherwise be.

C) It places the burden of loss on one or more responsible parties.

D) The insured can never receive any money collected through subrogation.

39) The fact that insured have reasonable expectations has typically resulted in:

A) a reduction in the scope of insurance coverage

B) an increase in morale hazard

C) difficulties preventing adverse selection

D) insurers having to cover things they never anticipated covering

40) A void contract is: 

A) voided by the insurer

B) voided by the insured

C) voided by law

D) voided by the court

41) Which term below describes a contract in which there is an unequal dollar consideration?

A) Commutative

B) Aleatory

C) Adhesion

D) Unilateral

42) The doctrine of proximate cause:

A) forces the insurer to pay for all claims arising out of an unbroken sequence of events if any one of the subsequent perils following the original excluded peril was covered

B) forces the insurer to pay for all claims arising out of an unbroken sequence of events if the original insured peril was covered

C) forces the insurer to pay for the loss when the proximate cause of the event is the insured's fault

D) divides any loss payment among parties proximately affected by the loss

43) Under a contract of adhesion:

A) subrogation is not allowed

B) ambiguous features are interpreted against the writer of the contract

C) ambiguous features are interpreted always against the insurer

D) ambiguous features are decided based upon the intent of the parties when the contract was entered

44) All of the following are requirements of a contract of insurance except:

A) the contract must be in writing

B) it must be for a legal purpose

C) there must be legal capacity of the parties

D) there needs to be an offer and an acceptance

45) Luis arrives home from work one day to discover that his apartment building is on fire. He drives directly to an insurance agency to buy renters insurance, since he realized he didn't have coverage for this loss. Luis does not tell his agent that the building is on fire. There is also not a question on the application for coverage that asks if Luis' apartment is currently on fire. Luis pays the first premium, and the agent issues a coverage binder. Which of the following statements is/are true?

I. 
Luis committed a misrepresentation, so coverage may be voided at the option of the insurer.

II. 
Luis breached a warranty, but the insurer will have to prove he did so fraudulently in order to deny coverage.

III.
Luis committed a concealment that was material to the risk, thus his coverage can be voided by the insurer as long as the insurer can prove that he concealed the fact with fraudulent intentions.

A) I

B) I and III

C) III

D) II and III

46) Actual cash value is defined as:

A) replacement cost minus accounting depreciation

B) replacement cost minus depreciation

C) actual replacement cost

D) original purchase price minus depreciation

47) The principle of insurable interest is important because it:

A) makes insurance companies more profitable

B) supports the principle of indemnity

C) prevents insurers from unfairly denying insurance claims

D) prevents an insurer from subrogating against a negligent third party

48) Tiffany, who is married to Saul, takes out a $1,000,000 life insurance policy on Saul's life in 2008. Two years later they get divorced and Tiffany immediately remarries. Saul is not required to pay any alimony or child support to Tiffany after the divorce. In 2015, Saul dies. What will Tiffany collect on the life insurance policy, assuming she continued to pay all premiums due following their divorce?

A) $0, because Tiffany has no insurable interest

B) $1,000,000, because Tiffany had insurable interest in Saul's life when the policy was purchased

C) $1,000,000, because Tiffany had insurable interest in Saul's life at the time of his death

D) $0, because Saul was not ordered to pay alimony to Tiffany

49) While driving home from work, Bailey's car is struck from behind by a van full of drunken college students. Asimov is the driver of the van. The resulting damage to Bailey's car totals $7,000. Bailey files a claim under his own auto insurance policy to have his car repaired, but his insurance policy only covers $6,000 of the $7,000 loss. Bailey pays the remaining $1,000 of the loss out of his pocket. Which of the following is a true statement?

A) Bailey has no legal right of subrogation against Asimov for the $1,000 that he had to pay out of his pocket.

B) Bailey's insurer has no legal right of subrogation against Asimov for the $6,000 of damages it had to pay to Bailey.

C) Bailey has the right under the principle of indemnity to now sue Asimov personally for the $7,000 damages to his car.

D) Both Bailey and his insurer have subrogation RIGHTS against Asimov for the damages he (Asimov) caused.

50) Willy Dye goes applies for life insurance. The agent takes Willy's application and his first premium payment, and issues Willy a conditional receipt for the payment. The next day Willy is run over by a sewage truck and killed. An autopsy shows that Willy was in excellent physical condition, and would thus have been issued an insurance policy had he lived. What will the insurer do?

A) Pay Willy's beneficiary the full death benefit because coverage existed from the date the receipt was issued

B) Not pay Willy's beneficiary because he died before the policy could actually be issued

C) Not pay Willy's beneficiary because a conditional receipt does not take effect until after the underwriting process is completed

D) Pay the beneficiary an amount equal to the premiums Willy paid for the policy

51) Sarah has a house valued at $200,000 and insured for $180,000. It is totally destroyed by fire, due to the negligence of Courtney. Sarah recovers $180,000 from her insurer, which then subrogates against Courtney. Suppose the courts decide that Courtney must pay $100,000 in damages, because that's all the money she has. How much of this $100,000 can the insurer keep, assuming that the policy has no special provision regarding the distribution of subrogation amounts?

A) $0 (The entire $100,000 must be passed on to Sarah)

B) $20,000 (Sarah gets the other $80,000)

C) $80,000 (Sarah gets the other $20,000)

D) $100,000 (Sarah will get no additional funds)

52) Joe has a dispute with his insurance company regarding how much he is entitled to recover on a claim. Joe believes he is entitled to get $8,000 based upon his interpretation of the policy wording. The insurer says the claim is not covered by the policy. Joe sues and a court of law decides that the policy wording is vague and ambiguous, and rules that the loss IS covered. What legal characteristic of insurance resulted in the court's decision?

A) Insurance is aleatory.

B) Insurance is a contract of indemnity.

C) Insurance is a contract of adhesion.

D) Insurance is personal.

53) Shicara owns a jewelry store. In exchange for a discount on her burglary insurance premium, she promises the insurer that her trained guard dog will be on the premises at all times, even when the store is closed. One evening she takes the dog home with her instead of leaving him at the store, and a burglar breaks in and steals everything. The insurance company finds out the dog wasn't in the store when the burglary happened, and denies the claim. WHY does the insurer do this?

A) Because Shicara committed a material misrepresentation

B) Because Shicara breached a warranty

C) Because Shicara committed a concealment

D) Because Shicara violated the principle of adhesion

54) Evan has his house insured for $200,000. He sells the house to Ann for $225,000. Three days after the sale is complete the house is destroyed by fire. Evan has not canceled his homeowner's insurance policy, so he decides to file a claim for losses caused by the fire. What will most likely happen?

A) Evan will collect $200,000 in insurance payments.

B) Evan will collect $200,000 in insurance payments ONLY IF Ann has not yet purchased a homeowner's policy of her own.

C) Evan will collect nothing because he has no insurable interest.

D) Ann will collect $200,000 from Evan's insurer.

55) "Binders" are typically used with:

A) life and health insurance

B) property and liability insurance

C) life and liability insurance

D) health and property insurance

56) Dana loans her brother, Marcus, $500,000 with which to start a movie production company. The business assets are shown in the loan agreement as collateral for the loan. Dana can insure Marcus's life because:

A) the principle of insurable interest exists in this situation

B) the principle of utmost good faith exists in this situation

C) she and Marcus are brother and sister

D) This is a trick question; she cannot insure his life, but she can insure the business assets.

57) A statement of opinion by the insured on a life insurance application:

A) is a sufficient reason to allow an insurer to later void the contract

B) is illegal, and insurers must not request such information

C) is not a sufficient reason for an insurer to later void the contract

D) provides reliable information to the underwriter

58) The parol evidence rule:

A) allows statements made before the policy is sold to affect policy coverage

B) benefits the insured more than the insurer

C) makes written evidence more important than oral evidence

D) makes oral evidence more important than written evidence

59) Jerry has a property insurance policy on a building that would cost $200,000 to replace. His insurance policy is written on an actual cash value basis. His building suffers fire damage that has a replacement cost of $50,000. The building is 2 years old, with an estimate useful life of 20 years. How much will he collect for the fire damage?

A) $5,000

B) $10,000

C) $25,000

D) $45,000

60) Which one of the following is false concerning the standardization of insurance policies?

A) It reduces the risk for the insurance companies resulting from the principle of adhesion.

B) It holds rates below what they would otherwise be.

C) It reduces adverse selection.

D) It increases flexibility.

61) Which one of the following is not a basic part of an insurance contract?

A) Deductibles

B) Conditions

C) Declarations

D) All of the above are a basic part of an insurance contract.

62) Property insurance policies are standardized for all the following reasons except:

A) to improve the accuracy of insurance rates

B) to help reduce costs to consumers

C) to eliminate competition between insurers

D) to reduce litigation over policy meaning

63) In property insurance the insured must have an insurable interest when the loss occurs and need not have it when the policy is taken out in order to collect.

64) Since the automobile insurance policy is written by the insurer, ambiguities are interpreted in favor of the insurer.

65) Standardization increases the possibility that some insurance needs go unmet.

66) Since the homeowners' insurance policy is written by the insurer, ambiguities are interpreted in favor of the insured.

67) Exclusions are not a basic part of an insurance contract.

68) There is no subrogation in life insurance.

69) If insurance policies were not designed to support the principle of indemnity, then we would have fewer moral hazards in our society.

70) The principle of indemnity says that the insured should profit from insurance.

71) Ambiguities in the wording of an insurance contract are always construed against the writer.

72) A binder must meet all the requirements of a valid contract.

73) Conditional receipts are associated with life insurance rather than non-life insurance.

74) "Actual cash value" means "historical cost less depreciation."

75) Concealment or fraud before, during, or after a loss generally allows an insurer to contest property insurance contracts.

76) Standardized insurance policies make it easier to calculate an insurance rate than do non-standardized policies.

77) When entering into a legally enforceable insurance contract consideration must exist. Explain what consideration is and the form it takes in insurance contracts.

78) Explain the principle of indemnity. How does one measure indemnity?

79) Explain the principle of subrogation. Provide a mathematical example of its use.

80) What is the doctrine of utmost good faith? What situations arise out of its application? Explain.

81) Explain what a contract of adhesion is. How does the doctrine of reasonable expectations influence adhesion?

82) Explain the purpose of the declaration page found in insurance contracts.

83) What are some of the reasons exclusions are found in insurance contracts?

84) Describe the purposes of deductibles.
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Chapter 12   The Personal Auto Policy

1) Gerry has a PAP with Liability coverage limits of 25/50/10 and a $1,000 Medical Payments coverage limit. He collides with another car (he is at fault) and the following losses are incurred:

Bodily injury to the driver of the other car = $100,000.

Bodily injury to the passenger of the other car = $3,000.

Property damage to the other car = $11,000.

Bodily injury to Gerry's wife = $5,000.

How much will the PAP pay, in total, for this accident?

A) $119,000

B) $60,000

C) $43,000

D) $39,000

2) All of the following would be paid under the PAP's Other than Collision coverage except:

A) the car is sprayed with paint as it passes under a bridge being painted

B) the driver of the car backs off a curb and damages the car's oil pan

C) the windshield is broken by a "flying" rock

D) while the insured is adjusting the carburetor, gasoline spills over the engine and causes a fire

3) The "defense" provision of the automobile insurance contract says the insurer:

A) will pay all defense costs, but those costs will reduce the limits of the policy

B) will indemnify the insured for expenses incurred as a result of hiring the insured's choice of defense attorney

C) does not need the consent of the insured to settle any claim against the insured

D) must investigate each and every claim

4) The PAP coverage that pays the largest claims, and is possibly the most important coverage is:

A) other than collision

B) medical payments

C) liability

D) collision

5) If your car is damaged in a collision that is your fault, the PAP says:

A) it is up to the insurer to have it fixed

B) you must protect it from further damage

C) all you have to do is notify the insurer and the insurer does the rest

D) the insurer's obligation is always to replace the car

6) Jackson has purchased Liability coverage limits of 100/200/50 on his PAP. He has an accident and finds himself liable for damages awarded in the following order:


Bodily injury to A - $250,000


Bodily injury to B - $200,000



Bodily injury to C - $150,000


Property Damage to D - $40,000

Which of the following is true?

A) Jackson's insurer will pay nothing to A.

B) Jackson's insurer will pay $250,000 to A.

C) Jackson's insurer will pay $100,000 to A, $150,000 to C, and $40,000 to D.

D) Jackson's insurer will pay nothing to C.

7) Which of the following would not be paid for by the PAP's Other than Collision coverage?

A) The insured hits a deer and damages his car.

B) The car is sprayed with paint as it passes by a road construction site.

C) The driver of the car hits a bird and breaks the windshield.

D) A crate falls off the back of a truck and lands on the hood of the insured's car.

8) Which one of the following is false concerning the PAP?

A) A pedestrian struck by an automobile can collect under his Medical Payments coverage

B) Defense, settlement, and supplementary payments are in excess of the stated limits of liability in the PAP

C) Other than Collision coverage will pay for theft of the automobile

D) Medical Payments coverage will not pay for the insured's injuries if the accident is the insured's fault

9) A tornado causes the garage to collapse on Mr. Woody's car, and the damage to the car is $5,000. Mr. Woody has a PAP with both Collision and Other than Collision coverages. A $200 deductible applies to the Collision coverage. There is a $0 deductible on Other than Collision coverage. How much is paid by the PAP for the tornado damage?

A) $0

B) $4,000

C) $4,800

D) $5,000

10) Compulsory Liability Insurance laws are designed to:

A) reduce automobile insurance rates

B) decrease the number of people who carry automobile insurance

C) reduce the number of automobile accidents

D) force individuals to purchase auto liability insurance

11) All of the following persons are covered under Larry's PAP except:

A) Larry's wife, who borrows a neighbor's car

B) Larry's son, who borrows a friend's car to get to work

C) Larry, while driving a car he borrowed from his employer to run an errand

D) Larry, while driving a borrowed commercial wrecker truck to tow his car to a repair garage

12) A PAP is issued with both Collision and Other than Collision coverages. Two valuable cameras are stolen from the car. The cameras would be paid for by:

A) Other than Collision coverage

B) Collision coverage

C) a homeowner's policy, if one is in force

D) the PAP, but ONLY if there are visible signs of forcible entry on the auto

13) Barney challenges Fred to a drag race across the mall parking lot. During the race, Barney loses control of the car and collides with another vehicle, causing serious injuries to the other driver. Which of the following is a true statement regarding the PAP's treatment of this claim?

A) The PAP will not cover this because it occurred on private property.

B) The PAP will not cover this because it occurred while he was racing.

C) The PAP will cover this because it did not occur inside a racing facility.

D) The PAP will cover this because it does not in any way exclude coverage for racing.

14) Under which of the following circumstances would Sue's PAP pay something for the loss?

A) Sue borrows her neighbor's car with permission. She causes an accident and is sued for an amount LESS THAN her neighbor's limit of liability.

B) Sue borrows her neighbor's car with permission. She causes an accident and is sued for an amount MORE THAN her neighbor's limit of liability.

C) Sue regularly uses her car in a business to drive college students to the airport for $50 one-way. She causes an accident and is sued by one of her paying passengers.

D) Sue is sued for causing a collision while operating a motorcycle.

15) Which of the following coverages is provided by the PAP?

A) Rental car reimbursement coverage for any car rental, regardless of why the car is needed

B) Liability insurance

C) Medical expense for disease

D) Personal property coverage

16) Ron's PAP has a $500 deductible for Collision and a $0 deductible for Other than Collision. Ron collides with a wild deer, causing $6,000 of damage to his car. He can recover from the insurer:

A) $6,000

B) $5,500

C) $6,500

D) $0

17) Which of the following is true regarding your PAP contract?

A) Your personal property is covered while in your automobile.

B) Your Medical Payments will pay for your friend's injuries suffered while s/he is occupying your car.

C) If you drive a car that you do not own, you will have no coverage for anything.

D) All rental cars must be declared to be insured in order to have coverage on them.

18) Which of the following is false?

A) A pedestrian who has a PAP and is injured by an automobile can collect under his own Medical Payments coverage.

B) The PAP covers theft of the automobile.

C) The subrogation provision of the PAP does not apply to Medical Payments coverage.

D) There is no coverage for the insured while driving a rented automobile.

19) You are in an automobile accident with an uninsured motorist, and the accident is your fault. Your Uninsured Motorist limits are 10/20 and your medical bills are $22,000.You collect from your UM coverage:

A) $0

B) $10,000

C) $20,000

D) $22,000

20) If Paul causes a car accident, and the car he hits is driven by an insured motorist, Paul's PAP will pay for the other driver's damages:

A) under coverage A, Liability

B) under coverage C, Uninsured Motorist

C) under both coverages A and C

D) nothing since an uninsured motorist was injured

21) In the Personal Automobile Policy, "your covered auto" includes all of the following except:

A) any car listed on the declarations page

B) a newly acquired auto

C) your trailer, if being towed by a passenger car, pickup, panel truck, or van

D) a motorcycle, just as long as it is not borrowed

22) Which of the following claims would not be covered by the Medical Payments coverage in the PAP?

A) The insured is injured because of an accident while driving his motorcycle.

B) The insured is struck by a house trailer which had become unhitched from the towing vehicle.

C) The insured is intentionally run over by his wife or girlfriend.

D) The insured is struck as a pedestrian when the driver of a car loses control.

23) Tammy has a PAP with Medical Payments coverage of $5,000, and Uninsured Motorist coverage of $100,000/$200,000. She is hit by an uninsured motorist and suffers bodily injuries in the amount of $225,000. In total, her PAP will pay her:

A) $100,000

B) $105,000

C) $205,000

D) $225,000

24) Which of the following is not a valid reason to carry Medical Payments coverage?

A) Guests injured in an automobile accident might hesitate to sue their hosts.

B) A negligent host would probably feel a moral obligation to pay for medical bills for injured guests.

C) To facilitate settlement for relatively small amounts of medical expense

D) To provide reasonably priced health insurance for the insured and his family

25) Uninsured Motorist coverage:

A) provides first-dollar coverage for damage to the insured's own autos

B) protects the insured against financially irresponsible drivers who have no auto liability insurance

C) doubles the premium for liability coverage

D) is available only to drivers with excellent driving records

26) Underinsured Motorist coverage:

A) is the same as Uninsured Motorist coverage

B) potentially pays the difference between the negligent driver's liability coverage amount and the injured party's UM limits

C) pays for property damage you cause when your victims have no coverage

D) pays for an insured's negligence when insufficient liability limits exist

27) Mindy is a member of the Zeta Omega Sorority. While driving to a local food bank to deliver donations from the sorority members, she causes an accident. She collides with a large carrot truck. The truck driver subsequently sues Mindy and her sorority for her negligent driving. Which of the following is a true statement?

A) Mindy's PAP Liability coverage will cover her, but not the sorority.

B) Mindy's PAP Liability coverage will cover the driver of the carrot truck, but not her.

C) Mindy's PAP Liability coverage will cover both Mindy and the sorority.

D) None of the above

28) Antonius accidentally runs over his friend Shaq while Shaq is walking across the street. The police declare the accident to be Antonius' fault. Where could Shaq have his injuries covered?

A) Antonius' PAP Medical Payments Coverage

B) Antonius' PAP Liability Coverage

C) Shaq's PAP Medical Payments Coverage

D) Both B and C 

29) The PAP's Other than Collision Coverage would pay for:

I.
Running off the road and into a lake

II.
Hitting a deer

III.
Hitting a chicken, losing control of your car as a result, and crashing into a ditch

IV.
Having a non-war-related missile land on top of your car

V.
Having your car stolen

VI.
Having your car vandalized by someone you broke up with

A) II, III, IV, V, and VI only

B) II, III, V, and VI only

C) II, IV, V, and VI only

D) All of the above (I, II, III, IV, V, and VI)

30) Under the PAP Liability Coverage, the "insured" is:

A) the person who causes the accident and/or damages

B) the person or persons who is/are injured in the accident

C) both the at-fault driver and those persons injured

D) the police officer who arrives at the scene and beats up the at-fault driver

31) Annette lives in Texas, and has a PAP with the minimum limits of liability required by law in this state, which are 20/40/15. She drives to Alaska, where the minimum limits of liability are 50/100/25. While in Alaska, she cause an accident. What is the most that her PAP will pay for the damages she caused others to suffer?

A) 20/40/15

B) 15/30/10

C) 50/100/25

D) 70/140/40

32) Chuck has an accident in which he is at fault. His liability limits on his PAP are 100/200/50. Five people besides Chuck are injured in the auto accident. Assuming that the following claims are paid in the order in which they are listed, how much will Chuck's insurer pay, in total, for all the bodily injuries?

Joe = $75,000
Mama = $125,000
Fred = $2,500
Granny = $2,500
Bo = $5,000

A) $75,000

B) $200,000

C) $185,000

D) $100,000

33) You drink 19 beers to celebrate the end of your risk management and insurance class, and then have an accident while driving home from the bar. The police charge you with drunk driving, and with hitting another automobile from behind. What will your automobile insurer do when you file a claim for the damage to your car, and what will it do when the injured people in the other car file claims to have their bodily injuries paid for?

A) Nothing. The insurer does not have to pay any of these claims.

B) The insurer will pay all the claims.

C) The insurer will pay the liability claims, but not the damages to your car, because of the fact that you were drunk.

D) The insurer will say, "Who are you? Nobody here remembers selling you a policy."

34) Nurse Goodbody works for Dr. Bond. While driving to the hospital one day, Dr. Bond has an accident that is his fault. Nurse Goodbody, as a passenger of the car, is injured. Which of the following is true?

A) Dr. Bond's PAP Liability Coverage will pay for her injuries.

B) Because she was a passenger, the PAP automatically defines her "an insured," so she cannot collect from Dr. Bond's PAP Liability Coverage.

C) She can collect from Dr. Bond's PAP's Liability coverage if she is not covered by workers' compensation.

D) None of the above

35) When you have an auto accident that is your fault, your PAP's Liability coverage will pay for all of the following except:

A) bodily injuries of passengers in other cars that you hit in the accident

B) bodily injuries of non-family members who are passengers in your car at the time of the accident

C) bodily injuries of your spouse who is a passenger in your car at the time of the accident

D) None of the above; in other words, ALL of the above are items your PAP's Liability coverage would pay for.

36) Bob loans his car to Norm, and Norm wrecks the car. Both Bob and Norm have PAP's on their owned vehicles, and both men have purchased all four major coverages (A, B, C and D) on their automobiles. Whose policy will pay for this loss on a PRIMARY basis?

A) Bob's

B) Norm's

C) They'll both be primary and will share the loss equally.

D) Neither policy will pay on a primary basis because the loss is not covered.

37) Dameion has a collision that is his fault. The ACV of his vehicle is $13,922. To repair the damages caused in the accident, it will cost $15,722. What will the insurer likely pay Dameion under his Collision coverage, assuming his deductible is $500?

A) $0

B) $13,422

C) $13,922

D) $15,722

E) $15,222

38) Latisha runs over a deer with her car. The ACV of her vehicle is $7,250. To repair the damages will cost $4,375. What will the insurer likely pay Latisha for this claim, assuming that her Collision deductible is $500, and her Other than Collision deductible is $200?

A) $3,875

B) $4,175

C) $6,750

D) none of the above 

39) Which of the following is true?

A) Suing an uninsured motorist for damages they cause you to suffer is not a promising source of recovery.

B) If you are struck by an uninsured motorist and want your PAP's Uninsured Motorist coverage to pay for your bodily injuries, you must convince your insurer that the Uninsured Motorist was at-fault in the incident.

C) If you cannot clearly establish that an uninsured motorist was at fault in the accident, you may have to enter the arbitration process to get your insurer to pay for your damages under the PAP's Uninsured Motorist coverage.

D) All of the above

40) Celeste has Liability coverage limits on her PAP of 100/200/50. She has an accident and finds herself liable for damages awarded in the following order:

Bodily injury to A - $250,000

Bodily injury to B - $30,000


Bodily injury to C - $150,000

Property Damage to D - $48,000

Which of the following is true?

A) Her insurer will pay $150,000 to C.

B) Her insurer will pay $250,000 to A.

C) Her insurer will pay $30,000 to B.

D) Both A and C are true.

41) Underinsured Motorist coverage:

A) is the same as Uninsured Motorist coverage

B) is automatically included in the PAP's Part C coverage

C) pays for property damage you cause when victims have no coverage

D) none of the above

42) Meghan has a PAP on 3 cars, and, she owns a fourth car on which no coverage has been purchased. Which of the following persons are covered by Meghan's PAP assuming they are driving the uninsured car?

A) Meghan, plus any other family member residing in the household

B) Any family member that resides in the household, but NOT Meghan

C) Only Meghan

D) None of the above would be covered.

43) All of the following would be paid under the PAP's Other than Collision coverage except:

A) the car skids out of control due to ice on the road, and hits a tree

B) the driver of the car hits a bunny rabbit, loses control of the car, and runs into a ditch

C) the windshield gets broken, and there is no known outside cause for the damage

D) the car is damaged by a fire the insured negligently started while shooting off fireworks on the 4th of July

44) When you have an auto accident that is your fault, your PAP's Liability coverage will pay for all of the following except:

A) bodily injuries of your family members riding with you

B) bodily injuries of non-family members who are passengers in your car at the time of the accident

C) bodily injuries of your best friend who is a passenger in your car at the time of the accident
D) the cost to repair or replace property belonging to others that you damaged in the accident

45) Mandy's car is stolen and she files a claim with her PAP insurer. Which of the following items will not be paid for by her Other than Collision coverage?

A) the actual cash value of the car

B) the car's factory-installed GPS navigational system, worth $999

C) her cell phone that had a built-in GPS navigational system

D) None of the above; all these items would be covered by her policy.

46) Your vehicle is damaged by another vehicle and the accident is the fault of the other driver. You may collect for damages to your vehicle, less the deductible, from your insurance company under Coverage D, Collision, if a premium for Collision has been paid.

47) You collide with another vehicle and the accident is your fault. You may collect for damages to your vehicle, less the deductible, from your insurance company under Coverage D, Collision, if a premium for Collision has been paid.

48) PAP coverage A, which includes Property Damage Liability, provides coverage to reimburse you if your automobile is damaged.

49) The PAP only covers losses that occur while the automobile is within the United States, Canada, or Mexico, or being transported between ports thereof.

50) Uninsured Motorist coverage usually provides property damage coverage to the insured for damages to his auto caused by an insured motorist.

51) A PAP may be canceled at any time for any reason if the insurance company no longer wants to insure you.

52) Financial responsibility laws legally require every driver to purchase automobile insurance.

53) The PAP's coverage territory is the USA, Puerto Rico, U.S. Territories and Possessions, and countries bordering the USA.

54) If you rent a car while on vacation, you have coverage for any collision damage to the rental car under your own PAP, assuming you have purchased such coverage on your owned automobiles.

55) Claims paid under the PAP's "Collision Coverage" are usually considered to be the insured's fault.

56) To have your bodily injuries covered under your Uninsured Motorist Coverage, you must have been at fault in the auto accident that caused your bodily injuries.

57) Your PAP's Medical Payments coverage will pay for your bodily injuries if you get hit by a car as a pedestrian.

58) When you borrow someone's car and wreck it, you have the option of letting your automobile insurance pay on a primary basis for the accident.

59) Robert drove his car from California to New Mexico. He had an accident right after crossing the border into New Mexico. His PAP provided coverage for this incident.

60) Property Damage Liability of the Personal Automobile Policy provides coverage to reimburse you if your automobile is damaged.

61) What is the difference between a single limit and a split limit in expressing liability limits in the PAP?

62) If an insured is using his/her own private passenger car under normal circumstances, in what situations can the insured lose legal liability coverage?

63) Explain the purpose of Uninsured Motorist coverage.

64) What is the difference between Collision and Other than Collision coverages? Why does the PAP list certain perils in Other than Collision when they can be caused by collision? What happens if the cause of loss is not listed?

65) Does the PAP provide any loss of use (indirect coverage) in the contract? What is it and how does it work (if any)?

1
Copyright © 2013 Pearson Education, Inc.


